Name 11‘2 NS P FS L1 Notes: Parts of the Circle

Fill out the table. Use the diagrams to identify examples in the third and fourth columns. "
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Sketch Circle O. Then sketch each of the following on Circle O.
--Radius OG, )
--Diameter XC t/y
—Chord XG L

——(P—Q) tangent to Circle O at point X
--CG secant to Circle O.
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Tangent Line Theorem:

Line w is tangent to circle C at point P
if and only if

w forms a right angle with the radius CP.

o:

To test if‘P_Q' is tangent to circle C at point P, use Pythagorean Theorem.
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Given: (DR, find the measure of each indicated arc.
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Matching. Use the Word Bank below. Use some words more than once.

L1 Worksheet: Parts of the Circle
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Word Bank

A. Minor Arc B. Major Arc C. Radius D. Diameter E. Chord
F. Secant G. Tangent H. Center l. Point of Tangency

Sketch a diagram.
19. Circle T with radii TR and TD

and chord DR. .

20. Circle W with diameter XY,

and UV tangent at point Y.

Determine whether XY is tangent to Circle Z.
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21. Circle O with chords MN, NT
and MT, and secant MN
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Find the indicated arc lengths.
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APPLICATION: A Center Pivot is a large sprinkler system used to irrigate crops. The long sprinkler
system is attached to a pivot in the center of the field and rotates around the center pivot.
If the sprinkler system is 400m long, the point of tangency
between the circle and the road is 300m from the house how
far is the pivot’s central hub from the house?
> P - é
HOO 1300 = X
oo IX= E)(JC?"‘\-}
oo \—
Arial view of center

pivot crops/fields.
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1-6: Match the symbol to the part circle O.
é 1. PQ
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7-8: Find the indicated measures in circle A.

L1 Quiz: Parts of the Circle

Word Bank:

A) Minor Arc
B) Major Arc
C) Radius
D) Diameter
E) Chord

F) Semicircle

G) Center

H) Secant

I) Tangent

J) Point of Tangency
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9-10: Answer the question.
\ E (> 9. Is the line m tangent to circle Q at point P?
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L{ 2 10. A ferris wheel has 8 equidistant cars. What is the measure of the arc between 2 adjacent cars?

X = 45

‘23 X = O



